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Math 10-C Relations & Functions Assignment List Name:( ‘/"\E?\)

C1&C2: Intro to Graphing / Graphing Relations

e Graphing Stories Video Graphs and Assignment
Text pg. 115: 1 (Sketch instead of describe), 3ab, 9
Graphing Relations Assignment
C2 Quick Check - Graphing Relations

C3: Interpret Graphs
e Interpret Graphs Assignment
e (3 Quick Check - Interpret Graphs

C4: Domain & Range Notation
e Domain & Range Assignment
e Domain & Range Notation Assignment
o Textpg.123: 4,1

C5: Functions
e Text pg. 128: 1
e Function Notation Assignment
e Text pg. 128: 2-8
e (b Quick Check - Functions

Relations & Functions Quiz
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M10C Rel & Func C1 - Intro to Graphing.notebook

Question #1 Solution

Josapher's distance
d 4 from home does not
change while
7 shais at the store.

o w oy
1 1

—
1

Distance From
Josaphee’s House (km}

M10C Graphing Stories Assignment

There is no change in Josaphee's distance from home
while she is visiting her friend. This line segment is

tonger than the segment when Josaphee was at the store

ta show that she spent more time at her friend's house,

BYANA

Josaphes runs
faster than she
ngS, so this line Is
steeper. She covers
more distance

In less tima,

a constant pace. Her distance
from home steadily increases.

P

t

Josaphee walks to the storeat | me(min) }osaphee is Jogging at a constant rate.This line

segment is steapar than when she was walking
bacause sha jogs faster than she walks.

Question #2 Solution

Samuel's Bicycle Ride
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M10C Graphing Stories Assignment

. DA~ Sarmuel’s speed increases from 0 to 20 kmvh, so the
segent goes up to the right.

BC ~ Sammiel’s speed dacreases to 3 km/h, so the segment
goes down to the right.

"DE | Samuelslows down to 0 kinh, su his speed decreases
- and the segment goes down to the right.

April 19, 2012
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M10C Quick Check €2 / 8 Name: FE?{

Graphing Relations

1. You are filling up a bath tub at a rate of 5.5 gallons / minute. The bath tub has
a maximum volume of 44 gallons. Express the relationship of the volume of
water in the bath tub as fime passes as a table of values and a graph.

a0 '-‘y.'.ifh‘S‘-J . o MmN ' 4 ;

Table of Values [1 mark] Graph [1 mark]
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What is the independent variable?

What is the dependent variable? \/O\\} me

Complete the statement:

\/O\\“V\Q/ depends on 7\/ NN

What is the domain? A]\ (94;\\ Ris (S(Bv\\i!‘ dr\X\G\f\ oc e‘D\N\ W O nk\ i'{&s *\‘-m o ez{ml }”%
fr)ottt vefd Lo\

What is the range? All el s greate Hhon oc e;}w\ b0 ad les Pha o e}w\\ b HY

5 v)oLviyl vepd Fo M2

Is the data discrete or continuous? c;u/\'*.\’\\\ﬂb’d\ﬁ




Math 10-C Interpret Graphs Assignment ' Name: ME%

Fuel Consumption of a Smart Car

Fuel Consumption of an SUV

ATV 2
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Pearson pg. 321 Pearson py. 324

What is the x-intercept for the graph of the smart car and for the graph of the SUV.
What do the x-intercepts mean in the context of the problem?

et Lo~ s
~x-m¥ = L0 km -y = A;‘S},p,,
The sooet coc can Yo SR kn on 351 . Te sun con Joe £5 - QoL

435 Fm

. What is the y-intercept for the graph of the smart car and for the graph of the SUV.

What do the y-intercepts mean in the context of the problem?

Smet (og SN
oot 7 25 L ootz 801
1“3!\\(1\ ammﬁ-r)% Qm\ M ‘\'DJ\\'—» The ?m"r\‘\] omoent ﬁ{ 'g:,\a,\ AN Jrﬂ\\L

. What is the domain and range for the graph of the smart car in words and in set

notation?
B All fﬂ‘;l L33 %reqlr‘r‘\*“f\r\ o eu\n\ b O md less+Ven oc GI/M\JW 5.
idlo‘*(l 8%0 ({{:F\é
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i) obv 535 JEL
What is the domain and range for the graph of the SUV in words and in interval

notation?
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Math 10-C Rel & Func Quick Check €43 /5 Name: HE#
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1. What is the y-intercept for the graph of the larger bin and what does it mean in the
context of the problem?

'\/*'\‘n“r :LfS@mz -—ﬂ‘.e, lclr%ay\)?c\ sﬁar’\u w?¥\f\ a Nolnme c,=@ 'f’i& m‘g,

2. What is the x-intercept for the graph of the smaller bin and what does it mean in the
context of the problem?

Yo = 00w The somller Win ks 40 mn B enf\?J'Sg_

3. Which bin emptied the fastest? ‘Thg/ ]a(%ﬂ\r j)"(\

4. What is the domain of the larger bin in words and in set notation?

D? AH fam\ e %(m‘\{t ‘\‘»\C\f\ of &L\,\m\ o O W\A ){A's ‘\’\\G\(\ or ei’[w\ to \'{5

iElosE M8 L eRE

5. What is the range of the smaller bin in words and in interval notation?

p\"‘, AH ¢ ea\ s 3(&&{-\— *"r\qoc\ 6¢ ek‘j,w\ e O m«(&. ks *i'\\c.x/\ oc e;}w\ o S
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Math 10-C Graphing Relations Name: KE\/J

Domain & Range-Netation A jpen'

For each problem, draw a graph of the situation using the indicated domain. Then state
the range using the same notation used for the domain.

2) b. You are selling lemonade at a price of $0.25 / 250mL. Draw a graph of your sales

Sales Reveave (¢)

b e

revenue, s, based on the volume of lemonade sold, v, in mL.

Case #1 Case #2
Domain: {v|0<v<2000,ve R} Domain: {v|v=0,ve R}
2k Sa
24 >4
g
=
2
&
: » L | -
P v i i v
Jeluwe Gty 2% Jolume (i}, 2000
o liplc & 3 s 4 > - P4
Rcmge:g'*’]a—b"”z-&t@‘é Range: éﬁ\ 5/;)};,&@\()

Calgary is about 300km from your house. You are driving home from Calgary at a

speed of 100 km/h. Draw a graph of your distance from home, d, in km based on the
time spent fravelling, t, in hours.

First Part of Trip Second Part of Trip
Domain: [0,1.5) Domain: [1.5,3]
d dn
300& 300 e
: e
\ \;j
50 T \o 5 150
7
£
3
1.5 % 1§ 3t
Tome Ches) T e (ha)
: < .= oo <k
Range: _ (150, 200 { Range: L0,150 )




N8 y=2x

Case #1 Case #2
Domain: {x|xe R} Domain: [-2,5)

108 21416810 1018 64 -2 2 416 810

-10 =10
Range: d ?B)v:\ &P\S Range: [;]f) "Uj
Case #3 Case #4
Domain: [0, ) Domain: {-3,-2,-1,0,1, 2, 3}




Math 10-C Domain & Range Notation Assignment Name: KE#

Each table contains the domain for a graph expressed in words, set notation and interval
notation. Complete each table. The first one has been done for you.

1 Words: | All real #'s greater than or equal to 4 and less than 8.

Set Notation: | {x|4<x<8,xeR)

Interval Notation: | [4,8)

2 Words: | real B gregtes $hon o dﬁl/V‘x}"\ o -2 ond Jess thon oy Q‘LM\ to A,

Set Notation:| 1 x| -3« £ & , «ERE

Interval Notation: | [-3,2]

3 Words: | All real #'s greater than or equal to 3.

Set Notation: |2 ¥ | x 22 xeRi

Interval Notation:| [ %, 60)

4. Words: | All rea #'s Jos than 5 .

Set Notation: | {x|x<5,xe R}

Interval Notation:| (~®.5)

5 Words: | All real #'s greater than or equal to -6 and less than or equal
to 6.

Set Notation: |{« | -6 £xL{  xelE

Interval Notation:| [-6, 4 1

6. Words: | Al rea #75.

Set Notation: | {x|xe R}

Interval Notation:| (- @)

Z Words: | All whole #'s greater than or equal to -3 and less than or
equal to 4.

List:| $-3,-2-1,0 1,23 Vg

8. Words: | All even V\,r‘hc;!e_ BS (jratk‘: T o Qw\ to O md Jess then o eavﬂ b 1o,

List:|{0,2,4,6,8, 10}

13



For each of the tables on the previous page, draw a graph that matches the given domain.
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Math 10-C Function Notation Assignment Name: léE \/[
C5 - Functions

1. Anadirplane flies directly from saskstport te Va'?“"'“‘e" Fligin

Saskatoon, SK, to Vancouver, BC. The
graph shows the relationship between
the distance from Vancouver, d, in
kilometres, and the flying time, 7, in
hours.

d(£)=1200-600¢

 Distance From Vanchuver (ki)

TR N N Y
Tifue {h) !
MHR pg. 367
For each of the following, fill in the blanks and explain what the solution means in
the context of the problem.

a) d(0)= 1200 b) dit)=_ 600

Distae i 1200 km when e s O, Distone s 4D kw H?’K’ | he
¢) d(t)=900,t=__O.5 d) d(t)=0,t= o

Aler 0.5 h the ditme ts J0 lem Ablac 2 K rhe dstene is O b

2. The cost of a pizza based on the number of extra toppings is given by the graph
below. For each of the following, fill in the blanks and explain what the solution
means in the context of the problem.

Cost of a Pizza

ST wa@=_Jd
P00t - : Cost i HIL wth 0 t@dﬂ“{*—ﬂ“”\\ *UQQ‘\‘\L\ &
PR UM RN | b) c4)=__ 15

CO_Sl\‘ by j’l))(-; w.;q(\ )»f 5\(\,(&?1\\6\’\9\,\ ‘}o(‘,ﬁ\wg/

I C(m)=0T75n+12 &

b SRS o cmeg14Bgn=_3

16.00 i i b |

o 41 MJI T}‘.fea {-\&-&;'\{Cﬂa\ %WH‘E\L w\'\\_ u}‘_ﬁ.‘ 'ﬂu)v 9'-') Jrcﬁl-

a-lopping

d) ¢ =$15.75,n=__ 5
Pearson py. 300 o . g o
Five c\&."‘v{‘m\.a\\ Toppn S will ot 159G &bl




3. The height of tide in a harbor is shown by the graph below. For each of the

following, fill in the blanks and explain what the solution means in the context
of the problem.

Height of the Tide in a Harbour
R

PTTTTT T  @ hoe
B Hep s dpn at 00700

b) h(18)=_
| - H{.ft'\s\(ﬁ- el C«gf\n 0\_* ]% v U_’D B

Height (m)

| 6600 Qséooé_ 12,00 118100 2400’ Ar0b:00 ond 13100 ne )mft)\\* S Bm.

o Time (24-h clock)-
| ¢ f

; ! p d) h(t)=8, 1= E) 1.5 PR
egarson py. 281 5

A+ o3:w ofuw |5:d (WL\ 30 -«'r){ \'\m\i}f\* I '

4. Create your own problem similar the #1-3. Sketch your own graph of a

scenario, create some questions involving function notation and solve them.
Exchange with a partner.

1%



Math 10-C Rel & Func Quick Check / 10 Name: ‘ié E\f/
C5 - Functions

1. Determine whether each relation is a function (F) or is not a function (NF). For
each question circle F if it is a function or NF if it is not a function. mHr s 6.4)

a) (41, (8~2).(6; -B), (7.-8),(6,~-11), (B,~14), (4.-1T) F or@

k) €) d TPTITE]
x | ¥ IR EE
-2 2
-1 4 :
0 -8 :
1 16 L2
2 [ 32 i

(For NF @or NF

2. The volume of water in a watering can, V, in litres in relation to time, t, in
seconds is shown by the graph below. Use the graph to fill in the blanks.

Volume of Water in a Watering Can . .
loldt | a) V(0) = /'O -
IR B by v3oy=_ . /5 L
E 5
% LO-A
= Q) Vh=0t=_ 905
01 50 40 60 80 Tl d) V(t)=125,t= 05 y /%%
L Timel(s) |

3. The function C(n) = 25n describes the number of calories, C, in n crackers. Solve
the following and explain what the solution means in the context of the problem.
a) C(12)= 1. z¢1) b) Determine n when C(n) =475

/71 Ce L\Lb:‘s }\c'}\vt ‘;ﬂ() c.—_&w\.‘e&.. ; :
}? cndss howe Y75 calocres

1
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M10-C Relations and Functions C[ Name: \4671
Quiz C1-C5 Date:

1. Anoven is turned on at a room temperature of 20°C and it takes 10 min to
reach a temperature of 190°C. A tray of cookies is placed in the oven to bake
for 10 min. The oven is then turned off and returns to room temperature after
15 min,

a. Sketch a graph of the temperature of the oven as a function of time. [2]

g £
1 1

: —
le o 20 Yo t

Hre Cmn\

b. What is the domain and range for this problem? [1]

0: [0,551
R [90,190 )

2. For each relation, state the domain and range. [1 mark each]
a. The cost for you and up to 4 of your friends to attend a concert at $10 a

ticket. D‘- { ],3,3,\1,55
R 2 1oy20,30, %0, 508

b. The distance you drive in 3 hours if you travel at an average speed of
60 km/h.

D"‘ [O);—l
R« Lo, %0 )



3. For each relation, state the domain and range. [1 mark each]

C a AT b. )
' * AN
L N /N
] 3
R fld 0y
) L / \
A " T4 i x fa | d2 fol\ x

2. 1,71 e

4. You are emptying a full pop bottle at a rate of 25 mL/s as given by the equation
V =750~25t, where Vis the volume of pop in the bottle in mL and #is the
amount of time passed in seconds. The domain for this scenario is
{r|0<1<30,re R}

a. Express the relationship between the volume of pop in the bottle and the
time passed as a table of values and a graph. {2]

WY

C o | 750 ’
g 1|75 S
;.t. 709 \_,%
s >

20 1 O o

e Fime (8 ’

b. What is the domain and range for this problem? [1]
O £o0,363

R [o,750 \
5. Draw a graph of a relation that is a function and a graph of a relation that is
not a function. [2]

Fm}rtw\ N oo FW‘O\‘\\"V\
2 . 2

C. e
— )

s
ey



6. The following graph shows volume, ¥, as a function of time, 7, when a water tank
is being filled. This function may be modelled by the equation V() =50z

Filling a Water Tank

OG0 }/
o)
r.: A FaY
as.-: %v
o _hnand
pey U
9 40 120
Tm?(mi )
M

a. For the above function, the value of V(40) is Q{WO

b. If V(#) = 6000 in the above graph, then the value of #is _ | 20 |

¢. What is the domain and range of the above function?

D Lo o)
R- Lo, bow

7. For a single membership to WORKOUT Health Club, you pay a $35 initiation fee
upon enrollment and then $25 a month. The cost of bélonging to the club is
represented by the functionC(m)=25m+35.

a. Determine C(10). Explain what your solution means. [2]

- N :
o) }}5;’“; The ast fe 10 mecds 0> 4085,
= o+

-,!%-25 \

b. Determine m if C(m)= $185. Show your work. [2]
Cln= FBm +35

= 35 . *35
138 5;;\ The e & Y188 §o  panths.
}50 ot W

s



